Portland-Seattle Trip
Portland and Seattle are about 180 miles apart. The Da Vinci family leaves Seattle at the same time as the Fermat family leaves Portland. The Da Vinci family travels at a constant speed of 55 miles per hour to Portland, and the Fermat family travels to Seattle at a constant speed of 65 miles per hour.
When and where (how many miles from Seattle or Portland) will the two families meet and pass on the road? Assume that neither family stops and the speed is constant. Use a table or graph and an equation to model this situation. Explain how you solved the problem.

